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PART A — (10 x 2 = 20 marks)

Answer any TEN questions.

" What is meant by Secondary Data? .

@ rerLmbd %Q%D yerafudwed erammmed eremen?
What is meant by Schedule?

eflemmiiuL iq wieble Qr_:@% wng)?

What do you mean by Ogive?

. REMN&HEL CTETMTED 6T 66 ?

What is frequency polygon?

SienaGleuent LICHTERILD GTeNDHITe) GTETET?
What is .vmu diagram?

Ul el eHlem&sLILIL LD GTETDITe) GTEsen?

- What is arithmetic mean?.

sgref] eremmmed ereven?

T B.om (S8 -

.

Find standard deviation : -
14, 22,9, 15, 20, 17, 12, 11
A1 eflavsaid samad(a :
HAV,N.NV 9,15,20,17, 12,11
PART B — (5 x 5 = 25 marks)

Answer any FIVE questions.
Enumerate the functions.of statistics.
Herafluflwieller Lienfisanar er(pg)s.

Explain various types of classification of data.

yerefludwed Qmsmcr_@.@m&_g ueGaum  (enmEaneT
efleul.

30 pairs of values of eio <mimgmm X and Y are
given below. Form a two way frequency table :

14 20 33 25 41 18 24 - 29 38 45
148 242 296 312 518 196 214 340 492 568
23 32 37 19 28 34 38 29 44 40
282 400 288 292 431 440 500 6512 415 514
22 39 43 44 12 27 39 - 38 17 26
282 481 516 598 122 200 451 - 387 245 413

Take class intervals of X as 10 — 20, 20 — 30, etc
and that of Y as 100 — 200, 200 — 300 and soon.
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10.

11.

Stabiatrics ]

g B S Sl el

16.

17.

State the uses of Mode.

APSIq 6T LIWIET Wimg,)?

What is Range?

55 ﬂw:.e:a.c ereman?

Find out Median :

100, 125, 120, 140, 150, 130, 140

QL Hmaamus sarsdl(Hs :

" 100, 125, 120, 140, 150, 130, 140

Calculate geometric mean

100, 120, 85, 140, 110

Qumsse syref samsH[Hs :

100, 120, 85, 140, 110

If the mean and median of a moderately

asymmetrical series are 26.8 and 27.9 respectively,
what would be its mode?

~em Srom Gsrfen gymef wHmID @%F.@%@ papGu

26.8 Hmib 27.9 @ ib. g6 (P&[H cTeuaee]?
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X wigd Y aem @ran@ wrhsefar 30 Carg.
wHliyser Aar@dsriu’ Herarear. @meuy <iee @ eua
LiFeuena SWmifl&Ese]Lb.

14 20 33 25 41 18 24 29 38: 45
148 242 296 312 518 196 214 340 492 568
23 32 37 19 28 34 38 29 44 40
282 400 288 292 431 440 500 512 415 514
22 39 43 44 12 27 39 38 17 26

282 481 516 598 122 200 451 387 245 413

X —é 10-20, 20-30, 30-40 eremeyd; Y —é 100-200,
200-300, 300-400 erameywd fley érawmenilsansserns
TH&GIE QameTarad.

The mean age of group of 100 persons was found
to be 32.02. Later, it was discovered that age 57
was misread as 27. Find the corrected mean.

100 Gurier ggnefl euwig) 32.02 eram sam_Hlutiul L g.
57 -erétip @@ erawr 27 e suDTs  THEHHE
QamereriuilLgy. sflwnen sgneflanws serBidliy Sseyw.

Peter travelled by car for 4 days. He drove
10-hours each day. He drove first day at the rate of
45 km per hour, second day at the ‘rate of 40 km
per hour, third day at the rate of 38 km per hour
and the fourth day at the rate of 37 km vmu hour.
What was his-average speed? :
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G eremueut 4 priser smfle) Lwewnd Qaliga.
@@Q@E@ .aq@_b 10 wenfl Cpyd Lwewmd Gadrgmi.
(WPS® [BmeT 59%9@. 45 £Ger 5L CeussHaid,
@b prer wellée 40 AGaom L i CaussHad,

PART C — (3 x 10 = 30 marks)
Answer any THREE questions.

20. Six types of workers are employed in each of two

workshops, but at different rates of wages as

aparmmd preT werllésE 38 HGar B CaussHad, follows :
presmd prar wealsg 37 HGom Bt CoussHaud Workers Workshop X Workshop Y
vwentd Qewisi. sieuyg syraf Ceusid ereuaiare] ereumd Wages per |- No. of | Wages'per No. of
ST Hlwiayid. worker (T) workers worker (%) workers
: A 250 2 300 ‘18
18. OOBHEnm mean deviation from the mozos:bm B 350 14 300 50
distribution : C 400 20 495 3
E 300 6 350 10
Y: 1 4 6 4 1 F 200 1 500 2

In which of the two workshop is the average rate
of wages per worker higher and by how much?
gaCeurandlaid <pm . CGui eisp QeucuGeugy s
digsded @ran® ulLepselld vLafiyfdeamert.
efleugiiser $Gp QarBssLILL (HeTera.

Yemeu(mid LFeuelleihhg el aflwssid HTERTE.
X: 2 4 6- -8 10
Y: 1 <46 4 1

' 19. The following information was obtained from the caa_wqa..qs d Leap XS T . LT 0 Y :
records of a factory relating to wages. paCanafdar | veflurers | gaQanmafer| usfuaris
Mean = ¥ 56.8; Median = ¥ 59.5 and Standard r L Mmmwo £9) ﬂmwﬁmm_wﬁm 508 o850 (3) | 2 graptiscn
Deviation = T 12.4. Find out co- -efficient’ of B 350 14 WWM ww
mWoébmmm and mode. C 200 50 =5 5
@@ @.@m_bemﬁse%% 506 gmips 1 Gemeu(HLd L S0 d E0 -2
efleugiiser QupluL ar. sgrefl = 56.8; Qe fleova = M Sl 5 350 10
595 wpmb AL essb = 124 Gemll 2 1 500 2

Qremged apg ulLeapuid el eishd fHswrs
2 6TeTg)? eThg SiaTelD@ &N 2 ararg)?
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. AerancusQa(p LHMIL &R Srears.

21. Compute the mean, median and mode from the
following data :
Age: 15-19 2024 25-29 30-34 35-39 40- AA
Persons: 4 20 38 24 10 9

Yemaupid Wreueladll(mHa! &BITGLD eflewssd whmib S
" vEsLD SreTs. .

o F 0-75 75-150  150-225 225-300
wrg augpLcmentd (X)) : .t

Genaimid efeurmiseafled mhs) mq:m_m GeHlened LHGID GO aerefisms : 69 - 167 207 65

wshH ma@éﬁmmﬂs y s () 300-375 375-450 - 450-525
anug : 15-19 20-24 .25-29 30-34 35-39 40-44 - . :
puisdr: 4 20 38 24 10 9. GObU eramenfiEans © 58 .24 10

22." Find out mode of the following data by grouping 24. Find out Karl Pearson’s Co-efficient of Skewness -

method : of the following distribution.
Value : - 34 45 56 6-7 7-8 89 9-10 Class Interval : 130-134 135-139 140-144 145-149
Frequency: 83 m_q” 25 50 75 38, 18 : wuopzoz,o%“ 3 12 21 28
ARUPSHD it L euanamr @38@% Gemeumid Class Interval : 150-154 155-159 160-164
.959.5@9@%@ P& SaMEELaLD. ~ Frequency : 19 12 5.
ogloy : S50 mwm CURLA B 10 Gemaumw ureudlelimpg  srier Gwieveflen Cam
Simebeuar: 83 27 25 50 75 38 18 @9.89&@&@ m@a@és.aﬁg.__b

_.952 ﬂgﬁz&%m 130-134 . 135-139 140-144 145-149
23. Find Standard deviation 8&. quartile deviation of

i Qe : 3 C 12
the following &mﬁﬁvﬁﬁon i &l =
Monthly income ANV ; . . . .
No. of families : 69 167 207 65 Seatearh L 4 A
Monthly income AMV : 300-375 375-450 Aw.o-mmm
No. of families : 58 24 10 )
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